1. The original source of energy in a food web is:


1) producers


2) primary consumers


3) decomposers


4) sunlight

2. The greenhouse effect is the result of:


1) loss of biodiversity


2) acid rain


3) a layer of pollutants in the atmosphere


4) a hole in the ozone layer

3. Carbon cycles back into the atmosphere in the form of:


1) glucose


2) carbon dioxide


3)  nitrates


4) water 

4. The ____________ biome has a layer of virtually frozen ground year around and plant life grows very quickly here. There are few animals and most are migratory.


1) coniferous forest


2) desert


3) tundra


4) tropical rainforest

5. All of the following affect population size except:


1) parasitism


2) predator-prey ratios


3) availability of nutrients


4) all of the above contribute to population size

6.  The most plant and animal biodiversity on earth is in which biome?


1) coniferous forest


2) desert


3) tundra


4) tropical rainforest

